Max Marks : 150

ALL INDIA TRADE TEST - 2024 FOR CRAFSTMEN
TRAINING SCHEME (CTS)
Trade Name: Wireman
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

. . Negative
QID Question Body and Alternatives gMarks Marks

Trade Theory N

1 Which tool is used for skinning the insulation of cables and cleaning the wire surfaces? 2.0 0.00

Fadl b YA B g 3R IR B Tdg! B ITH A P fo1g fHa IUSHI 61 IuaT fbar wiran 82

_A] Electrician's knife

AR RGBT AdH

52 Round nose plier

I37S Y TR
A

3 Snip nose plier
[EEEIERSIEN

4 Combination plier

B AR

A

4 Tr_ade'Theory

2 Which tool is used for boring small hole on wooden articles? 2.0 0.00

THE! B TGN IR BIE B B P (o1 b SUDBRUIeBT ST febaT STl 82

_Al Firmer chisel
oI 5o
_Az Wood rasp file

3 I BT

AS Gimlet

firrete

.A4 Centre punch
Fgud
Trade Theory
3 What is the use of this tool? 2.0 0.00

3 ¢ B SUTNT T &7

S

/’w

WRINYIMT 298

Al Cutting and twisting the wire

TR B BT 3R AT




.AZ Extracting nails from the wood
IR CANAREANE
A3 . . .
.~ Loosening and tightening the bolts and nuts

Tlee 3R ¢ B Eell AT 3R HET

_A4 Holding the hot substances

TRA Terdf P YR HAT
Trade Theory

Which type of caliper is used to draw parallel lines along the outer edges of the materials?

IR % et frTRT IR THMIR 3@TE Gien & e g TR & HelluR &1 U fovar s 82

_Al Jenny caliper

ERIEIREN

AZ Outside caliper

TITHES FaATR
:A3 Spring Joint caliper
:A4 Inside caliper

it FefR

Trade Theory

Which file is used for sharpening the blunt teeth of a tenon saw?

T T & =T il DY O B B oY g Bsd o1 SUANT fban S 22

_Al Square file
TBR PR

52 Triangular file

[ECAliERIES

.AS Half round file

3meft et T

54 Round file

R3S WIgd

Trade Theory

Which type of stake is used for shafp bends in sheet metal?

Yie fea 7 dig Mg o 5T TR 31 T aR} &1 ST fohan oiraT 82

Hatchet'stake

Fde B

.A2 Square stake

Al

TR ED
53 Bevel edge square stake

AT TS R K H

.A4 Blow horn stake

i KD
Trade Theory

Which condition of the victim is referred as coma stage?

difsd @1 fore Rufa &1 T a1 a1 SI1er 82

! Lie totally senseless and do not respond to calls

T aRE Y TRIATYU S Sed § SR B BT oIaTd Tl &l &

_AZ Unconscious but can respond to calls

2.0

2.0

2.0

2.0

0.00




I A T T oraTe & Wbl §
,A3 Conscious but cannot respond to calls

B H § A Tt 1 e TEY < bl
A4 .
. Breathing but cannot respond to calls

i =< TE) © Qb1 Bl bl SiaTel el ¢ I ETE
Trade Theory

Which personal protective equipment is used for the protection from fumes? 2.0

o0 A TR F 0 B | ARG JRE IUHRT BT SUINT T ST 32

_Al Ear mask

S T gEe

52 Nose mask

P T g@el

.AB Apron f
LG
54 Goggles
oA
Trade Theory 4 A 7;
Which is the golden hour for the victim, injured on head with risk of dying? 2.0

R R T @ IR 7 & Shfew art fifSd & o e s s e?

él First 15 minutes

First 15 minutes

52 First 45 minutes

First 45 minutes

'A3 First 60 minutes

First 60 minutes

_A4 First 30 minutes

First 30 minutes

Trade Theory

Which tool is used for loosening and}ightengng of nuts and bolts? 2.0

T2 3R diee 1 el 3R HHY P (AT b IUBRUT T SN fobaT Sira 82

A

! Side cutting plier
IES BT RIIR

{82 Round nose plier

I3 Y TR

_A3 Double ended spanner

0 138 WR
_A4 Screw driver
Uaag
Trade Theory

Which tool is used for marking and punching the center of pilot holes on metals? 2.0
yTgell IR Urde 8¢ & Fg o fafgd H ok g &= & forg forer Suaon &1 SuziiT fosa Siran 82
fM Rawl plug tool and bit
3 T g iR fae
.AZ Firmer chisel

[EZEEK]




.A3 Try square

TR W
64 Centre punch
DU
Trade Theory

Which type of notch is used for making a metal tray with 90° bend and an inside flange?

90° TS 3R 3T Tl aret g T S & o b TR 3 =iier T SUENT {3 et 82

,Al Square notch
WPIR AT
{82 Slant notch

IGREIGIE]

_AS V notch

v
54 Straight notch

Ayt
Trade Theory

13 13 Which type of occupational health hazard is cause for infection?
e TR &1 AaURIe W GaR] hHUl BT HRY 52

Al Physiological hazard
IRING W1

'AZ Psychological hazard

TR FRT

,AS Biological hazard

[SICEZRET]

_A4 Electrical hazard

faegd @

Trade Theory

14 14 Which is called valence electron in an atom?

T TRATY H, 3T Sora o oeT ol o2

_Al Half the total No. ofielectron

TR P

AZ No. of eléetron i middle orbit

T HETH gaae &1 ST
< No. of electron in inner most orbit

T W e A 3adei  de

_A4 No. of electron in the outer most orbit

T 168 Fe ¥ gAdeH P g

Al

Trade Theory

15 15 How many electrons are in a copper atom?

foram gaaeT die & WA A g &

Al 5
27
A2 58
28

A3 99

2.0

2.0

2.0

2.0




29
Ad 3
30

Trade Theory

How many number of electrons will move in one second for one ampere current through the conductor?

FHEaeX b AT ¥ Ueh URIIR HC & (A0 Uh Jdbs H fohd- gaaei-i ot Tm grit?

Al
624X 1010

6.24 X 1015

A2
7 624X 1010

6.24 X 1016

TL\S 6.24 X 1017

6.24x 10'7

.A4 6.24X 1018

6.24X 1018

Trade Theory
What is the property of direct current?

SRR B B fadwdr g2

! Magnitude and direction of current changes with time

IRET 3R BT F fxn Ty & wry uREkid gl &

.AZ Magnitude and direction of current remains constant
TR AR Hie Fi = RR B R

A3 .. s

.~ Direction of current changes with time

URT ) = T & 9 uRkad et &

A4 Magnitude of current changes with time

PRe BT URHIY THY S 1Y UReERid 8ldl &

" Trade Theory

Which effect of electric current is used for the treatment of mental patient?

ARy A7t &% IUAR % oY faggd YT &, b g WHTa o1 SUTNT foam Sireft 22

Al Shock effect

IchT YHId
62 Chemical effeet

IS TG

_A3 Magnetic effect

DI THIG
54 Tonization effect

SMIHIH THTT

Trade Theory
What is the name of the effect, if the current is passed through the electrolyte?

I 3AgeIaTse & Aend ¥ faggd vaTe uikd faan SaT §, & UHTa o1 o1 A 82

! Heating
S
2 Chemical

RRIRIEED

A

63 Magnetic

Yo

2.0

2.0

2.0

2.0

0.00

0.00

0.00




20

21

22

20

21

22

.A4 Thermal

T

What is the name of the measuring tool?

IO IUHN B 10 T 82

Trade Theory

EL111821

_Al Outside micrometer

IR S HIZHIHIER

AZ Inside micrometer

IIES HISHIHIER

63 Vernier Caliper

R et

_A4 Standard wire gauge

TS IR IS

What is the reading of the micrometer?

ARHHICR BT TTSTATS T 82

y _7Tra_de Tﬁeory

01234

il

-

=

10

-

EL112015

Al 4 05

4.05mm

AZ 4.15 mm

4.15 mm
53 4.50 mm
4.50 mm

64 4.55 mm

4.55 mm

What is the name of the wire joint?

TR & SIS BT A AT 82

Trade Theory

2.0

2.0

2.0

0.00




23

24

23

24

i
)

e
Ry

ELA41044

:Al Aerial tap joint
R e Sige
{\2 ‘T’ joint
T Sige

53 Knotted tap joint

s ey Sige
'A4 Plain tap joint

reT U wige

What is the name of the wire joint?

AR Siige BT AH R 82

Trade Theory

:“ﬁjﬁﬂmﬂﬂmm

WHN12L1 B

! Britannia 'T" joint
frefar T wifge
:A2 Western union joint
I g wige
?ﬁ Britannia'straight joint
:A4 Married joint

RS wige

Which type of joint is used in over head lines for extending the length of wire?

5 UPR & Sige B1 3R S A3 H IR B <aTs ggH & forg TaT fbam wirar g2

:A1 Scarfed joint
Ths wige

:A2 Britannia ‘T’ joint
forerfrar T Sige

A Lo
. 3 Western union joint

I gfAge Sige

Trade Theory

2.0

2.0

0.00




.A4 Married joint

RS wige

Trade Theory

What is the name of the soldering?

el &1 T 82

EL111312

Al DIP soldering

DIP HIee &

A2 .

.~ Temperature controlled soldering
argAH R Sesia

A3 . . .

. Soldering with soldering gun

TR T & 1Y Aies T

A4 Soldering with blow lamp

I o0 | e

Iradg Theory

Which solder is used for soldering aluminium conductor?

DI T WiceR TegHI-gH Hheaex | <ol T, o JaiT fobam ST 82

.Al Fine solder

BT HIeeT
{82 Resin core solder

IRF BR Aes

_A3 Alcap solder

Te! e

54 Tinman solder
TR diee?
o Trade Theory

Which is conductor?

DI I eI 87

Al Wood

eS|

{82 Zinc

i

A3 Rubber

REN

_A4 Mica

YD




28

29

30

31

28

29

30

31

Which metal is used to make soldering iron bit?

e 3R foe 99 3 for v fopar s 82

Al
. Iron

SIS
,AZ Steel

RS

_AS Brass

LG

A4 Copper

GIEl

What is the property of good conductor?

3BT SR BT T IR B2

.Al Must have low specific resistance

o ARy ufaRiy g =nflee

52 Must have high dielectric strength

T ST 3aifaee WYY gl =y

_A3 Must have low tensile strength

& I Ui gl =gy

54 Must have low melting point

% foer foig g1 =feT

What is the equation for Quantity of electricity?
foreft &1 w1 & for Ften<on 1 82

Al o=t
Q=1Ii
52 Q=1+t
Q=1+t

A3 Q=1xt

Q=1Ixt

M Q=1

What is the name of soldering method?

oS fafy s A g

WM MZ 106

Al Dip soldering
feu desi

,AZ Soldering with a flame

HEEIS

Trade Theory

Trade Theory

'Erad_E The;_Ey -

Trade Theory

2.0

2.0

2.0




32

33

34

,AB Soldering gun
RISSIURIC

‘A4 Soldering Iron

SITRA

32 What is the name of soldering method?

Aresio fafy s am an g

Trade Theory

ROD BOLDER

WHNINRI08

,Al Soldering Iron

SR MR

:A2 Soldering with gun
T i

_A3 Soldering with a flame
RSN

A4 Dip soldering

f&u Aesfr

33 What is the name of the soldering method?

e fafy sram s g?

I:rad; Theory

W YIMEZ 208

:Al Soldering Iron
ST SR

?42 Soldering gun
GISSRUKIE]

.A} Soldering with flame

NG
‘A4 Dip soldering

&y isha

34 What is the name of soldering method?

Aeshon fafy s am a g

Trade Theory

2.0

2.0

2.0

0.00




35

36

37

35

36

37

WY MO0

:AI Dip soldering
ISeEISEUl

:A2 Soldering iron
SR MR

_AS Soldering with flame

EEKISR
54 Soldering gun

NI URIE]

Which conductors are used for distribution lines?

faa=ur aret & o & § hedex BT ST fbar Srar 82

él Bare conductors
BUKGISE

:AZ Insulated conductors
YIS HoaR

:AS Insulated solid conductors
YIS 3 HeFR

{\4 Insulated multi stranded conductor

$YACS Aed! WSS Bhade?

Which type of wire joint is found in t:he junc}ién box?
SR e H {59 UHR HIATIR Sits Ul Sl 82
:Al Rat tail joint

Yecas
éz Plain, tap joint

pERISEIS
:AS Aerial tap joint

TR e sitg
:A4 Married joint

EIREICI

Trade Theory v
7\ 2.0
Trade Theory
2.0
Trade Theory
2.0

Which formula is used to calculate the value of unknown resistance (R,) in Wheatstone bridge?

D 1 G e oot F S=ITd UieRIe (R,) & e Bt 0T R & fo STt fobam S 82

0.00




38

39

40

38

39

40

WNT2L10d9

Al
P
Ry =—x3$
Q
A2
Ry=—xQ
A3
Ry =—xQ
S
A4
Ry =—x—<

Trade The;r)L

Which law states the relation between the voltage current and resistance 1 a closed circuit at constant temperature?

fRR AUAH R D191 F9H T §¢ Ffthe | Pec dleest 3R UfcRigL® s S8 Sdidl 82

fM Ohm’s law
3 o1 e

.AZ Kirchhoff's current law

fpTaTe o1 He &1 fm

63 Kirchhoff's voltage law

P &1 dieeorfan

A4 .
. Law of resistance

ufeRrg@ T

Workshop Calculation Science

Which metal contains iron as a major content?

T {9 urq & e Il & 0 A ARl elar g?

_Al Brass metal

diae erg

AZ Bronze metal

EISEIG|

'A3 Zinc

ISE3
,A4 Ferrous metal

RIERI

Workshop Calculation Science

Which alloy used in electric lamp as filament?

T 3 o fiyer erg o1 SuahT fagyd Tea & fhadic A far Srar 82

2.0

2.0

2.0

0.00




41

42

43

44

41

42

43

44

_Al Cobalt

PHlaTec

AZ Vanadium

ERIRRE]
:AS Tungsten
ULSE]
A% Silicon
Raferepr
Workshop Calculation Science

What is called mass per unit volume of a substances?

et uerd & goam ufd 3TS SMad- Bl T Hed 87

_Al Mass

Feinic)
?42 Weight
HR
:AB Density
Yid
:A4 Volume

A

2.0

Workshop Calculation Science

What is the work done in unit time?

TP 3HTE gAY A fobar T S o Bl /2

'Al Energy

Workshop Calculation Science

What is the ratio of power output to power input?

e 3MGCTe 3R Ve STYC BT U 3T BT 32

:Al Work
Eau

:A2 Energy
St

:A3 Efficiency

GEIdT

.A4 Acceleration

R
Workshop Calculation Science

How many watts for 1 horse power in British system?

fafew Rrer @, 1 SRS TR A fbem AT Bla &2

2.0

2.0

2.0

0.00




.Al 726 watts

726 watts

.AZ 736 watts

736 watts

AS 746 watts

746 watts
A

4 756 watts

756 watts
Engineering Drawing

Identify the conventional symbol of material?

I} & YRR Ucieh 1 Uga?

EDNG1811003

él Lead

s

_Az Steel

B

53 Glass

E3El
'A4 Porcelain

= et

Q Engineering Drawing

Identify the conventional symbol of material?

Tl & URURS Udie o ugaT?,

F N A |
z 7 7

EDNG 1811004

! Concrete
Tifid wrfpH
A2 greel

il

63 Wood

e

A4 Glass

Ikl
Engineering Drawing
Identify the conventional symbol of material?

A} % YRR Ucieh 1 Uga?




48

49

hJ
>
A
v
v
EDNG1811005

fM Steel

EXIG)

{82 Wood

qbar
63 Glass

Eb—ia 1
_A4 Concrete

3
Engineering Drawing
48 What is the trimmed size of A4 sheet? 2.0

A4 Xfie &1 fem fopa gon SR Fm 82

{\1 841 x 1189
841 x 1189

A2 504 x 841

594 x 841

A3 H10x297

210x 297

A% 148x210

148 x 210

Engineering Drawing
49 Which drawing dimension is correct as.per IS,standard? 2.0

IS A F SR B IT ST ST T&1 82

Al

A2

A3




Ad

Engineering Drawing
50 50 Identify the name of prism?

o o fem U s ST A AT R

EDNGH 812005

:AI Square prism
R A

:A2 Pentagonal prism
T iUy firsH

:AS Triangular prism
[EcalieiE)

54 Hexagonal prism

& \ Employability Skills
51 51 Fill in the.blankywith correct word. “They good friends”

g d g e W) “They good friends”

Al ¢

A2
. am

am

A3
. are
are
A4
7 was
was
Employability Skills

52 52 Fill in the blank with present progressive tense of the verb. “The train through the tunnel”

forar & gfur wrfa=ita ®1at & Ty Rad ®IF W “The train through the tunnel”




53

54

55

56

53

54

55

56

.Al passed
passed
A2 . .
.~ is passing
is passing
AS had passed
had passed
A4 .
. was passing
was passing

Employability Skills

Fill in the blank with proper interrogative adjective.

I SeRMfea faRwur & Ty Rad - W |

are you going?
are you going?
_Al Who
Who

.AZ Where

Where

A3 Which

Which
A

4 What

What

Employability Skills

”

Fill in the blank with proper pronoun. “I made this cake

Yaa = o IRId TdH & 1Y HR 1“1 made this cake »

Al myself
myself
_Az yourself
yourself
.A3 himself
himself
A% Sigelf

itself

PR Employability Skills
Fill in the blank with proper pronoun. “She made this cake ”

ad = H IRITTITH P TY W1 “She made this cake »

Al tself
itself
62 myself
myself
_AS herself
herself

'A4 himself

himself
Employability Skills

”»

Fill in the blank with proper reflexive pronoun. “She has hurt

fYaa =M & Ifra ufaadt Td=m & Ty 4R “She has hurt »

! myself

myself

2.0

2.0

2.0

2.0

0.00

0.00




57

58

59

60

57

58

59

60

:AZ herself
herself
A himself
himself
A% Sielf

itself

Employability Skills

Fill in the blank with suitable adjective for the given sentence “The little girl’s...... eyes revealed her mischief” 2.0

%Q U dreRq Ed ﬁ'fq SuYdd v & Try Rad -IM R “The little girl’s...... eyes revealed her mischief”

Al chubby
chubby
_Az weak
weak
.AB short sighted
short sighted
A% winkling

twinkling

Employability Skills

Fill in the blank with suitable place preposition. “My house is the third floor?>

JUGE AT At & 1 e RIF 4R “My house is the third floor”

Al gt

at

A2

A3
~ 7 on

on
.A4 under
under

Employability Skills
Fill in the correct question word. is the speaker at the function?”
Hﬁq&[ g WY | « is the speaker at the function?”

,Al What

What
?42 When
When
53 Why
Why
_A4 Who

Who
Employability Skills

Low level language is also called

g TR By mwaﬁ%‘

1
source code

RIREAE]

62 middle ware

HEAR

2.0

2.0

2.0




61

62

63

64

61

62

63

64

A3 .
.~ machine language
A= HroT

4 assembly language

CRERIRYN

Pronunciation refers to

Tt o

,Al diphthong
TG TR
2
consonant
ol

A3

punctuation
fam fog

4 production of sound

af BT I

Re-arrange the following set of words into meaningful sentence. “teacher / school / worked / she / a./ as”.

egi & Fafifad Ic & Irdfe area § bR § af®yd B3| “teacher / school / worked / she /d / as”

Al School worked as a she teacher

School worked as a she teacher

_Az She worked as a school teacher

She worked as a school teacher

A

3 She teacher worked as a school
She teacher worked as a school
A4

. Worked she as a school teacher

Worked she as a school teacher

Rise and fall of pitch of voice is called
3fTaTSt Bt o 1 I3 SIR e
1
vowel
IR
2 intonation
SIASL PT SdR-deld
3
consonant
L]
4 .
pronunciation

aﬁ%n?n%

Employability Skills

Employability Skills

Employability Skills

Employability Skills

The word that expresses a sudden and strong feeling is called

TG eg; SN SIS 3R T HTGT e el § I

! punctuation
farm fore

2 interjection
[ERSRIEEICED

3 . .
conjunction

mﬁﬂ?ﬂ%

2.0

2.0

2.0

2.0

0.00




GRICEERS
4 apostrophe

TSI

Employability Skills

When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use . 2.0

S 37y fRiarep, Ufkieren a1 wHdeieh S ST SABIRG] BT SHfirare e g, df U] BT IUGNT BT MY

A

! Good morning
Good morning
_Az Hello

Hello
.A3 Hey
Hey
A4 i w
Hi

Employability Skills

Which is a silent letter in the word “ANSWER”? 2.0
“ANSWER” R16& # ®19 1 b &R 82

Al R

R

e

E

A

N

A w

w
* Einployability Skills

Which one is a “Do’s” of discussion etiquettes? 2.0

T4t & RIFEARI # § S I “Do’s” 82

:AI Loose your temper
S{UT ST @G

:A2 Listen to others
SREIRE!

A3 Talk abouturrelevant details

SUTTeh faaR0T & IR H 91d Y
.A4 Use impolite or rude language

S{YZ T ST UTHT BT STAT B

Employability Skills

Which one is a “Don’t” of discussion etiquette? 2.0

T RISTER BT “Don’t” 87
Al Be open minded
femmT gar @
:A2 Use moderate tone
T TR BT TN B
?‘3 Listen to others
T B g

A4
. Argue unnecessary




JHIITTD T8 B
Employability Skills

69 69 Which one is a brain of computer?

S BT AIGTD B TTR?

A

! Keyboard
GIEIN]
CPU
ddg
:A3 Monitor
AR
A4 Hard disk

TS ewp

A2

Employability Skills

70 70 Which one is an exclamatory sentence?

DI 91 foeqanfeaies are 32

fM What a beautiful house it is!
What a beautiful house it is!
{\2 It is a beautiful house.

It is a beautiful house.

_AS Is it a beautiful house?
Is it a beautiful house?
.A4 Your house is beautiful.

Your house is beautiful.
Employabitity Skills
71 71 Which one is in active voice?

kT 3farel § I 1 82

_Al Ram has passed the exam.

Ram has passed the exam.
52 The ball was caught by him.
The ball was caught by him¢
A3 .
"~ The book was being tead by her.
The book was being read by her.
_A4 We were driven home by dad.

We were driven home by dad.

Employability Skills

2 72 Which one is in passive voice?

ffepy e d B AT

.Al Mohan is painting a house.

Mohan is painting a house.
A

2 She was reading a book.
She was reading a book.

A3 .

.~ Her birthday was celebrated by us.

Her birthday was celebrated by us.

54 I have seen that movie.

I have seen that movie.
Employability Skills
EERIE Which one is NOT a conjunction?




74

75

74

75

B 1 T GG T &2

'Al And
And

62 Or

.AB But
But
_A4 On

On

Which one is NOT a benefit of the role playing?

BT T BT & I AT et 82

A

! Builds confidence

ST UeT HRar @

.AZ Develops listening skill

G T I [Ip TRy BT &

63 Develops creative problem-solving skill

IS GH-GHIYT BILe [apRid Bl g

_A4 Develops boredom

Rgd YT arar g
Which one is NOT a vowel?
BT TR TRl 22
Al
A2

A3

A4

Employability Skills
2.0

Employability Skﬂlﬁ
= 2.0




Wireman - 1st Year - Set 2

S.No. Correct Answer Key S.No. Correct Answer Key
1 A1 39 A4
2 A3 40 A3
3 A2 41 A3
4 A1 42 A2
5 A2 43 A3
6 A1 44 A3
7 A1 45 A2
8 A2 46 A4
9 A4 47 A4
10 A3 48 A3
11 A4 49 A1
12 A3 50 Ad
13 A3 51 A3
14 A4 52 A2
15 A3 53 A2
16 A4 54 A1
17 A2 55 A3
18 A1 56 A2
19 A2 57 A4

20 Ad 58 A3
21 A4 59 A4
22 A3 60 A3
23 A3 61 A4
24 A3 62 A2
25 A2 63 A2
26 A3 64 A2
27 A2 65 A1
28 A4 66 Ad
29 A1 67 A2
30 A3 68 A4
31 A4 69 A2
32 A3 70 A1
33 A2 71 A1
34 A1 72 A3
35 A1 73 A4
36 A1 74 A4
37 A2 75 A3
38 A1

Note:

"In case answers found to be inaccurate due to typographical error or any
other reason please sent mail to gqbnimigrievance@gmail.com"
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